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Week 03 - |0|E XE2|&

Python Crash Course 2

Joonhwan Lee
human-computer interaction + design lab.
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* Flow Control
* File I/0
* Object Oriented Programming

~3
)
_|_

o
Qo
=




1. Object Oriented Programming
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Object Oriented Programming (OOP)
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Object Oriented Programming (OOP)
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import random

class Die:
def roll(self): « class method
return 1 + random.randrange(6)

=cliA= Cigdt 20| LEMES Hd5101 ArEalr.

el =R DEe ) # F=ALR| oLt dd

+ diel.roll # =A2|2e| HIAEQl roll &
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class Die:
def roll(self):
self.number = 1 + random. rand..

def show(self):
return self.number

[EE e Pl
die.show()
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class Die:
def roll(self):
self.number = 1 + random. rand..

def show(self):
return self.number

[EE e Pl
die.show() => error !!|
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class Die:
def roll(self):
self.number = 1 + random. rand..

def show(self)

O| B, HIEA| CtZ2t 20| MOF 2t
return self.i

die = Die()
die.roll()

die.show()
[EE e Pl

die.show() => error !!|
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class Die:
def initialize(self):
self.roll()

def roll(self):

self.number 1 + random. rand..

def show(self):
return self.number
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class Die:
def initialize(self):
self.roll() die = Die() = &=

__init  HACII XS SST|HA
roll 7t YAl S =EICEH

def roll(self):
self.number

1 + random. rand..

def show(self):
return self.number
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OOP 9i5: Dragon 7|7|

+ Dragon2 O|&& 7I¢ICH.
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Dragon |22 2L} interactive 5l...

+ Dragon 7|27| A2 interactive StH| HF3L0{ EX}.

4

input () HAEES &0sto] Ctaat 20| Yool BY|E F
10 AE4SEA| SFRL.

Dragon?| O|S& Y=Hal M.
G-Dragon
'G-Dragon'0| ENO{ 5t &L LY.

commands: feed, toss, walk, rock, put to bed, exit

feed
'G-Dragon'0f|A| 2= =11 I01L.

commands: feed, toss, walk, rock, put to bed, exit
toss

'G-Dragon'Z st= =0| HX 0!

=719 ot



Assignment #2-2: Python Crash Course 2
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Assignment #2-2: Python Crash Course 2

+ Exercise 2X|

. Ct33t Ze Yoz

>
[iR]

+ M= Y8 GitHub (CI2 F €22 9/29 X&)

+ It O|5: A2-2-3}H-0|F(YO0|2).iphynb dAle=
(Od: A2-2-13403-999-jiyoon.iphynb)
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Assignment #2-2: Python Crash Course 2

+ #1. L3S S5ot= Z2 WS XE5HAL.

+ 100 little monkeys jumping on the bed.
One fell off and broke his(or her) head.
Mama(or Daddy) called the doctor and the doctor said,

"No more monkeys jumping on the bed!"

1 little monkey jumping on the bed.
One fell off and broke his(or her) head.
Mama(or Daddy) called the doctor and the doctor said,

"No more monkeys jumping on the bed!"

+ Mama &2 DaddyE ==olA| MENSHA| SEAL.
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Assignment #2-2: Python Crash Course 2

+ #2, AMESIE A2 ELIE HES
A ALOl0| e R E &I

o} BlLt= o7t UH0|H 1 S £3)

LI=0{ %! (0f]: 1984, 2012)

+ 10022 Lt+=0{X|H 21H0| o (0fl: 1800, 1900)

+ 2E2 40022 LI0Z (0ll: 1600, 2000)

o Mo
<

HL

Mr

El

U

2]

Dl'IJ

1[0

> Pick a starting year (like 1973 or something): => 1973

> Now pick an ending yeatr:

— = RS
> Check it out... these years are leap years: => 1976

+ (&f1) 83 2|AE: http://mwultong.blogspot.com/
2005/12/18002300-leap-year-list.ntml



http://mwultong.blogspot.com/2005/12/18002300-leap-year-list.html
http://mwultong.blogspot.com/2005/12/18002300-leap-year-list.html
http://mwultong.blogspot.com/2005/12/18002300-leap-year-list.html
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//38 8% 28
public class GuguClass {
public static void main(String[] args) |

System.out.format ("$n < gugu>sn®):

for (int j = 1; ] <= g; 3+4) {
System.out. println()’
for (int i = 2; 1 <= 5: i+4) { // 2~ S

LU

3ystem.out.£ormac("td X %d = %2d -

!

)
System.out .println()’ /] gHE

for (int J = 17 § <= 9; J+t) {
System.ouc.println() |

I e =

L. 35 4. %39
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Assignment #2-2: Python Crash Course 2




Questions?
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